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Leshawn and his sister are selling 
their stuffed animals they’ve 
collected. Leshawn sold 28 stuffed 
animals. His sister sold 15 less than 
he did. How many stuffed 
animals did Leshawn’s sister sell?

28-15=?      28+15=?

28

34

?

34-4=?        34-14=?

1.

Aunt Tina and mom are selling old 
jewelry. Aunt Tina sells 34 pieces of 
jewelry. Mom sells 4 fewer pieces of 
jewelry than Aunt Tina. How many 
pieces of jewelry did mom sell?

2.

0
pieces of 
jewelry

31
pieces of 
jewelry

30
pieces of 
jewelry

10 
stuffed 
animals

13 
stuffed 
animals

43 
stuffed 
animals

?

Garage Sale: “Less Than” Problems
A family is having a garage sale. Read each word problem. 
Check the equation that matches. Then, circle the answer.


